SCHOOL OF HOSPITALITY VOCATIONAL EDUCATION

New Acquisitions as of September 2015

Class	Title	Author	Copyright	Place	Publisher	Edition	Volume	Unit Cost	# of cps	Total Cost
SHVEd	A practical guide in basic cooking and baking	Hilario, Jose S et al.	2015	Mandaluyong	Books Atbp.			PHP 480.00	2	PHP 960.00
SHVEd	Bartending for dummies: a wiley brand	Foley, Ray	2014	Canada	Wiley	5th edition		PHP 640.00	1	PHP 640.00
SHVEd	Bread and pastry production NC II (a self learning module)	Prades, Corazon	2015	Mandaluyong	Books Atbp.			PHP 400.00	2	PHP 800.00
SHVEd	Catering: a guide to managing a successful business operation	Mattel, Bruce	2016	Canada	The culinary institute of America			PHP 3,475.00	1	PHP 3,475.00
SHVEd	Comment ca va ? French made easy	Rosales, Renato	2013	Malabon	Jimczyville			PHP 495.00	2	PHP 990.00
SHVEd	Convention and event management	Cruz, Zenaida	2015	Manila	National Book Store	3rd edition		PHP 345.00	3	PHP 1,035.00
SHVEd	Cooking basics for dummies: a wiley brand	Miller, Bryan, Rama, Marie	2015	Canada	Wiley	5th edition		PHP 1,750.00	1	PHP 1,750.00
SHVEd	Culinary arts	Reyes, Ruth	2015	Manila	Unlimited books library services & publishing inc.			PHP 620.00	2	PHP 1,240.00
SHVEd	Discovering world geography	Boehm, Richard	2014	New York	McGraw Hill			PHP 7,575.00	1	PHP 7,575.00
SHVEd	Elements of finance	Mariano, Norma	2014	Manila	Rex Book Store			PHP 465.00	2	PHP 930.00
SHVEd	Essentials of professional cooking	Gisslen, Wayne	2016		Wiley			PHP 9,095.00	1	PHP 9,095.00
SHVEd	Events management	Romero, Aloisa	2015	Manila	Rex Book Store			PHP 300.00	3	PHP 900.00
SHVEd	Exciting Philippines: a visual journey		2001		Periplus			PHP 695.00	2	PHP 1,390.00
SHVEd	Fine french desserts: essential recipes and techniques		2013		Flammarion			PHP 2,393.00	1	PHP 2,393.00

SHVEd	Food and beverage: cost control system	Mendoza, Evangeline, Felicen, Sevilla	2015	Manila	Books Atbp.		PHP 280.00	2	PHP 560.00
SHVEd	Food microbiology and food safety	Bueno, David	2014	Mandaluyong	Books ATBP.		PHP 275.00	1	PHP 275.00
SHVEd	Food service management	Punay, Maria Lutgarda	2015	Manila	Rex Book Store		PHP 275.00	2	PHP 550.00
SHVEd	Food weights and measures: a reference tool for product development recipe costing and nutrient analyses	Aquino, Ma. Chistina, Siggaoat, Janine	2015	Manila	Mindshapers Co.		PHP 480.00	2	PHP 960.00
SHVEd	Getting started in cooking international cuisines	Hilario, Jose S	2014	Mandaluyong	Books Atbp.		PHP 480.00	2	PHP 960.00
SHVEd	Hajimemashite: Japanese made easy	Rosales, Renato	2014	Malabon	Jimczyville		PHP 395.00	2	PHP 790.00
SHVEd	Hotel and resort operations	Santos, Buen, Moral, Peter	2014	Quezon City	Maxcor		PHP 495.00	2	PHP 990.00
SHVEd	Hotelier's guide to housekeeping	Santos, Buen	2014	Quezon City	Maxcor		PHP 430.00	2	PHP 860.00
SHVEd	Introducing hospitality	Walker, John	2014		Pearson Education	6th ed	PHP 745.00	2	PHP 1,490.00
SHVEd	Introduction to cruise line	Laxa, Nathaniel,	2014	Manila	Mindshapers Co.		PHP 475.00	2	PHP 950.00
SHVEd	Introduction to hospitality management	Walker, John, Walker, Josielyn	2014	Boston	Pearson	4th edition	PHP 5,260.00	1	PHP 5,260.00
SHVEd	Management information system in tourism and hospitality industry	Rodolfa, Bernardo	2014	Manila	Unlimited books library services & publishing inc.	Rev. Ed.	PHP 400.00	2	PHP 800.00
SHVEd	Marketing for hospitality and tourism	Kotler, Bowen, Makens	2014		Pearson Education	6th ed	PHP 958.00	2	PHP 1,916.00

SHVEd	Meetings, expositions, events and conventions	Fenich, George	2012	Boston	Pearson	3rd edition	PHP 1,158.00	1	PHP 1,158.00
SHVEd	Modern Mandarin Chinese Grammar: a practical guide	Rosee, Claudia, Ma, Jing-heng	2014	New York	Routledge		PHP 4,360.00	1	PHP 4,360.00
SHVEd	National environmental health association		2015	Canada	Wiley		PHP 3,495.00	1	PHP 3,495.00
SHVEd	Practical cookery for level 2 NVQS and apprenticeships	Foskett, David et al.	2015		Hodder education	13th edition	PHP 4,295.00	1	PHP 4,295.00
SHVEd	Presenting the Philippines: a journey through the archipelago	Hicks, Nigel	2010		John Beaufoy Pub		PHP 695.00	1	PHP 695.00
SHVEd	Principles of eCommerce/ eBusiness: theories and applications	Orcullo, Norberto Jr.	2009	Manila	Rex Book Store		PHP 448.00	2	PHP 896.00
SHVEd	Principles of tourism I	Santos, Buen, Manzano, Ronald	2014	Quezon City	Maxcor		PHP 300.00	2	PHP 600.00
SHVEd	Principles of tourism II	Santos, Buen, Manzano, Ronald	2014	Quezon City	Maxcor		PHP 430.00	2	PHP 860.00
SHVEd	Professional food and beverage service management	Verghese, Brian	2012	Delhi	Trinity Press		PHP 1,350.00	1	PHP 1,350.00
SHVEd	Resorts and recreation management: an introduction	Cornell, Daryl, Abellana, Ephraimuel, Bernardo, Benedicto	2015	Manila	Mindshapers Co.		PHP 520.00	2	PHP 1,040.00
SHVEd	Strategic management made simple	Young, Felina C	2015	Manila	Rex Book Store		PHP 385.00	2	PHP 770.00

SHVEd	The big book of juicing: 150 of the best recipes for fruit and vegetable juices, green		2015		Skyhorse Publishing		PHP 816.00	1	PHP 816.00
SHVEd	smoothies, and probiotic drinks The complete book of icing, frosting & fondant skills	Baker, Shelly	2014	Singapore	Quintet Publishing Ltd		PHP 799.00	1	PHP 799.00
SHVEd	The Philippine islands of enchantment	Yuson, Alfred	2003		Periplus		PHP 845.00	1	PHP 845.00
SHVEd	The Philippines: the most beautiful places	Hicks, Nigel	2014		Beaufoy Publishing		PHP 795.00	1	PHP 795.00
SHVEd	The pizza bible	Gemignani, Tony	2014	United States	Ten Speed Press		PHP 1,008.00	1	PHP 1,008.00
SHVEd	The routledge advanced chinese multimedia course: crossing cultural boundaries	Lee, Kunshan Carolyn et al.	2014	New York	Routledge	2nd ed.	PHP 6,541.00	1	PHP 6,541.00
SHVEd	Total quality management	Evans, James R., Lindsay, William	2013		Cengage Learning		PHP 398.00	2	PHP 796.00
SHVEd	Tourism marketing	Badilla, Maricel	2015	Manila	Rex Book Store		PHP 375.00	6	PHP 2,250.00
SHVEd	Tourism planning and development	Cruz, Zenaida	2015	Manila	National Book Store	2nd ed.	PHP 325.00	1	PHP 325.00
SHVEd	Visual geography of travel and tourism	Harssel, Jan Van, Jackson, Richard, Hudman, Lloyd	2015	USA	Cengage Learning	5th edition	PHP 6,950.00	1	PHP 6,950.00
SHVEd	Writing japanese katakana: an introductory Japanese Langugae Workbook	Gleeson, Jim	2015		Tuttle	Rev. Ed.	PHP 490.00	2	PHP 980.00

TOTAL TITLES:	49	
TOTAL VOLUMES:	82	

Prepared by:

Ms. CHARMAINE C. MASULI

Acquisitions Librarian